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Energy scan runs

* Using “simple” library, z=0, x=-32.2 cm, y=422.4cm,
0,,=-10.56,6 ,=-11.69

* 1000 Muons Arapica bar
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Energy scan runs

* Using “simple” library, z=0, x=-32.2 cm, y=422.4cm,
0,,=-10.56,6 ,=-11.69

* 1000 Electrons Arapuca bar
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Energy scan runs

* Using “simple” library, z=0, x=-32.2 cm, y=422.4cm,
0,,=-10.56,6 ,=-11.69

* 1000 Protons Arapuca bar
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Energy scan runs

* Using “simple” library, z=0, x=-32.2 cm, y=422.4cm,
0,,=-10.56,6 ,=-11.69

* 1000 Pions Arapuca bar

x10°
05000 "
c - pions 5100— pions
S4500F * 1GeV s L |%1GeV
8 = + 2GeV £ [ [¥2GeV
24000 3GeV - |*3GeV
ey — * BGeV 80— |*6GeV * * *
3500 7GeV - |+ 7GeV .
- - o
000E+ =« o v, sl . !
2500 ¥ ¥ B y * *
— *
- * L *
— - *
1500 * L N * *
— *
— - * ¥
— * *
1000E T T 20— ** ** phx, IR
500 R L * ¥ Hly xyg ¥ *
T T O D A S T | * N wx gy  F * * **** "
%_ co b b b v b b b e b g ?itﬁtfﬁﬂf\x%*%u|||**¢ﬁ|*|||l|**§ ]
4 46 48 50 52 54 56 58 60 60 65 70 75 80 85 90

ch

Channel
< Boam APA1 APA2 APA3



Energy scan runs

* Using “simple” library, z=0, x=-32.2 cm, y=422.4cm,
0,,=-10.56,6 ,=-11.69

¢® 1000 Kaons
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Photons

Number of photons
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Green = Muons

Purple = Electrons
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Energy scan runs

* Using “simple” library, z=0, x=-32.2 cm, y=422.4cm,
0,,=-10.56,6 ,=-11.69

* All channels

x10°
&éﬂﬂﬂﬂ = g 100|— [pions
E’ " [Protons E B # 1GeV
S |4 2cev @ | |+3Gev
- — GeV
60000 —| + 3GeV # * 80 # B " N
" | % 6Gev N * ~ |+ 7GeV .
C |+ 7GeV B 3 *
50000 ——— *ox : .
= « 60 — N
40000 — * ¥ L . *
[ * N *
30000 * 40 — N *
- - * Lk
20000 — = e *
- * 20— R Xt
= - * *
10000 * : ey
- * * *
- i L — Al ; 3
BE. -2 AN } -.-.-—-“”:._ T-‘"—__ TR TN aﬁmﬁm “:ﬂﬂlk At ':“'u‘ | NI *5 Ll g %’%I I% 111
0 20 30 40 50 60 0 10 30 40 50 60 0 80 90




	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8

